D1viSION WITH A REMAINDER II (H - SET 4)

DIVISION WITH A REMAINDER Name:
Time: Score: y—
361) 37302 = 6 = 376) 45598 = 9 =
362 25086 <+ 10 = 577 35147 +8 =
363 29630 =+ 8 = 378) 3740 + 3 =
300 5021 +2 = 379) 2642 + 2 =
305) 34927 + 8 = 3500 96009 + 10 =
366) 22249 + 3 = 1) 48110 +5 =
37 51133 +9 = 382) 13736 + 6 =
368) 75900 + 8 = 33 H1782 +6 =
309 89133 + 9 = 331 66860 + 8 =
370) 57897 + 10 = 35) 19348 + 2 =
371) 3454 =~ 1 = 386) 31230 = 10 =
320 49731 + 6 = 337 28453 + 10 =
313 41114 +9 = 355 60598 + 10 =
574) 14265 +4 = 389) 23282 + 3 =
375 20747 =— 3 = 300) 87049 = 10 =
Mathematics: Division - Level § - Horizontal - Set 4 14 culu
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